
Name Telephone Number/email

1  ⅛ perch

2 ¼ perch

HOW LARGE IS THE GIRTH OF THE 1000 YEAR OLD YEW TREE ‐ AT 3 FEET ABOVE THE GROUND

25 pence (in today's money!) a go ‐ a prize for the winner
HOW MANY PERCHES DOES THE 

3 x GIRTH MEASURE

IF YOU WRAPPED A PIECE OF TWINE AROUND 3 TIMES, HOW MANY PERCHES WOULD THE TWINE MEASURE

2  ¼ perch

3  ⅜ perch

4  ½ perch

5  ⅝ perch

6  ¾ perch

7 ⅞ perch7  ⅞ perch

8 1  perch

9 1 ⅛ perches

10 1 ¼ perches

11 1 ⅜ perches

12 1 ½ perches12 1 ½ perches

13 1 ⅝ perches

14 1 ¾ perches

15 1 ⅞ perches

16 2  perches

17 2 ⅛ h17 2 ⅛ perches

18 2 ¼ perches

19 2 ⅜ perches

20 2 ½ perches

21 2 ⅝ perches

2 ¾ h22 2 ¾ perches

23 2 ⅞ perches

24 3  perches

25 3 ⅛ perches

26 3 ¼ perches

3 ⅜ h27 3 ⅜ perches

28 3 ½ perches

29 3 ⅝ perches

30 3 ¾ perches

31 3 ⅞ perches

4 h32 4  perches

33 4 ⅛ perches

34 4 ¼ perches



Name Telephone Number/email

HOW LARGE IS THE GIRTH OF THE 1000 YEAR OLD YEW TREE ‐ AT 3 FEET ABOVE THE GROUND

25 pence (in today's money!) a go ‐ a prize for the winner
HOW MANY PERCHES DOES THE 

3 x GIRTH MEASURE

IF YOU WRAPPED A PIECE OF TWINE AROUND 3 TIMES, HOW MANY PERCHES WOULD THE TWINE MEASURE

35 4 ⅜ perches

36 4 ½ perches36 4 ½ perches

37 4 ⅝ perches

38 4 ¾ perches

39 4 ⅞ perches

40 5  perches

41 5 ⅛ perches41 5 ⅛ perches

42 5 ¼ perches

43 5 ⅜ perches

44 5 ½ perches

45 5 ⅝ perches

46 5 ¾ perches46 5 ¾ perches

47 5 ⅞ perches

48 6  perches

49 6 ⅛ perches

50 6 ¼ perches

51 6 ⅜ h51 6 ⅜ perches

52 6 ½ perches

53 6 ⅝ perches

54 6 ¾ perches

55 6 ⅞ perches

7 h56 7  perches

57 7 ⅛ perches

58 7 ¼ perches

59 7 ⅜ perches

60 7 ½ perches

7 ⅝ h61 7 ⅝ perches

62 7 ¾ perches

63 7 ⅞ perches

64 8  perches

65 8 ⅛ perches

8 ¼ h66 8 ¼ perches

67 8 ⅜ perches

68 8 ½ perches



Name Telephone Number/email

HOW LARGE IS THE GIRTH OF THE 1000 YEAR OLD YEW TREE ‐ AT 3 FEET ABOVE THE GROUND

25 pence (in today's money!) a go ‐ a prize for the winner
HOW MANY PERCHES DOES THE 

3 x GIRTH MEASURE

IF YOU WRAPPED A PIECE OF TWINE AROUND 3 TIMES, HOW MANY PERCHES WOULD THE TWINE MEASURE

69 8 ⅝ perches

70 8 ¾ perches70 8 ¾ perches

71 8 ⅞ perches

72 9  perches

73 9 ⅛ perches

74 9 ¼ perches

75 9 ⅜ perches75 9 ⅜ perches

76 9 ½ perches

77 9 ⅝ perches

78 9 ¾ perches

79 9 ⅞ perches

80 10 perches80 10  perches

81 10 ⅛ perches

82 10 ¼ perches

83 10 ⅜ perches

84 10 ½ perches

85 10 ⅝ h85 10 ⅝ perches

86 10 ¾ perches

87 10 ⅞ perches

88 11 ⅞ perches

89 11  perches

11 ⅛ h90 11 ⅛ perches

91 11 ¼ perches

92 11 ⅜ perches

93 11 ½ perches

94 11 ⅝ perches

11 ¾ h95 11 ¾ perches

96 12 ⅞ perches

97 12  perches

98 12 ⅛ perches

99 12 ¼ perches

12 ⅜ h100 12 ⅜ perches



YEW TREE SOLUTION

1 girth is 25.25 feet

I perch is 16.5 feet

I girth is 1.530303 perches

3 girths is 4.590909 perches

which is just under  4 ⅝ perches




